WRUE NP ETERY

b igte il Syl 5aedl A 00 40
33l 2022 15126 Ikl (52 1444 W 5y, 30 oy FOTUEE S7NP SO (N
Lol ) Sgal 1 3 3 I Jual) 91 Zgsa8) Ll
(Llis 06,5) :dgW g pudll

tde C: B : A sleYiel)

C=6><{105) %106 ; B=(v!1_—1)(m+1): A:%-]—

21 4
0,04x10~4 3

?T’
BJ A@Miw}km |
Lo 415 € sl SN 2
AXC=10>XB : e 3

(Lolis 06,5) : 3Ll 8

gl yx § Lagea Led ldsl 405 5,495 Gbudl I ¢ Clue 3 1
L ALl Jodyo 7o 10 ) 405 5 495 pyoaall SY1 A3 ld) o 2

Z—E—E . L sl " »
X iy !X Uyl OB A Dol 3
(LL;.S 0?):&&\ ;M‘ﬂ\
t¢e> GiF: E eVl
E=5V27 +V75 —13V3 ; F=+/22+3V81 =$

oSl 1l by glad b b yacs avh KB\ o Eosudl S0 .1

: q.,.)a.:.u F il .2

bl s 6 Al plis Junl .3

TR 1/1 douall



8 8xV3 8/3 83

G = ” o — S
W3 7V3xy3 7x3 21

B 5, Gleo Asylall las
01,5 B=(Vi3-1)(V13 +1) K Y
B=(V'ﬁ)z+m—m—1 f 221 33
02 B=13-1) A=
S B =12 _18 ﬁg_rj;
j 878 8 01
A=8
=3 deade 4S°C 5Ll 417 2
02 _ iz
C=15x107108 - SATAR ., -2
C=15x10* :i.h_,
01 AXxC=10*xB : Hobs 3
AXC=8x15%x10°=12x10*=10° x B
_ PGCID(495 405)F1 6 405 5495 pdaall it o465 51k 1
’ i 9 ol L 405 5 495l S
405 5495 (pouall Y sall el s 2
8 02,5 PGCI(495 ;405)=45 : 3! 4 90=45x2+0 , 405=90x4+45 , 495=405x1+90
. 2 5 _ 495
11 5 5 49545 5 495
"q 02¢5 12:-9-+; .'d _E_wsﬂs I olias Iz—;:m .'l-'-f.Jj
x——r;:r—u-ﬁ! x=— P—E, xr= ’ _,.g = ‘Al-'ﬂ\..
3 5 %*Ju
01 avb K3N Jo E sl 38 1
01 E =527 +475 -13J3
05 |E=5V9x3 +25x3 —13V3
i F=5x3J3 +5/3 — 13,3
E=(15+5-13)\3
S 0,5 E=73 w,
j - I#_.J:m Fy s 2 03
- * F=17 4syF =49 @F=Jzz+3x9 sbae F=+22+3v81 [y
o Gl e lalis G Ll i Jr 3

www.dzexams.com




